-

101213 - 2023

PART - A
N e5 ! (] ¢ £ E E
1. & 88 iwo A m?“gf)s e300 ¥§ (8;)(5 .':)CDBES e SST’GQEJCZJ&DOC) O]
S o QE W E 5 o o )

(A) TE Dp@iofof NI (B) 358 Desogd i3
(C) A8 sogd [® (D) eseno Desogd &3
In which generating station steam energy is converted into electrical energy is
(A) Hydro-electric power station (B) Wind power station
(C) Solar power station (D) Nuclear power station

2.8 X8 BTN VPR G0k, SooA0sY B0 S0 Suhod Ttess aEboito Soed
Vg S00ai0 Vi &3y X = VL [V 00008, $53y083e Sge dasoes g0 355etsdood.

(A) (1—x2)x100 (B) (i—l)xloo (C) (1—x)x100 (D) (%—IJXIOO

H x= VR/VS where Vg and V, are respective sending end and receiving end
voltages of a short transmission system, then percentage voltage regulation is
given as
1
(A) (1 -x2)>< 100 (B) (;—l]xloo (©) (1=x)x100 (D) (—12-—1]x 100
X

50550 2PSED Dy KoQod, B36 BR> 3538, EW BB KEER0S Dgrrio ool By eFTR
DEoB008 A8 72

(A) ?QDSVSﬁS (B) oFSed (C) oR-erd (D) Lwéﬁﬂd&S
The device locates the fault on the.system and isolate the faulty part from the

healthy section in a power system network is

(A) Switchgear (B) Isolator (C) Bus-bar (D) Transformer
57586 5 S00A> GES IGE BrLrEEd

(A) DoETraisS Sarereo E5E
(B) Sodordh Sagrerew s

(C) HoRTrass 350805 SOPEROSE Sareres SEOJM

(D) $oEEra3aEs SoDAB SO0 SaTT R0 DI
Nuclear energy and Tidal energy are examples of
(A) Non-conventional sources

(B) Conventional sources
(C) Conventional and Non-conventional sources respectively

(D) Non-Conventional and Conventional sources respectively

o8 Beré® D505 ot Bty 503 8, M §'eid 3000k HORE'E ST 65 MW, 75 MW
00050 95 MW eoxd &6 57650

(A) 67.9 % (B) 86.7 % (C) 68.4 % (D) 78.9 %

If minimum load, average load and maximum load of a power plant in a day
are 65 MW, 75 MW and 95 MW respectively, then Load factor is

(A) 67.9 % (B) 86.7 % (C) 68.4 % (D) 78.9 % ﬁ
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(A) 5% 530e5 RoRs’ FrSofso I 0000
(B) 5208 800§ orQohié’ wsuotho BB Gotiol
(C) 33 TG orQofis” ogfso SERET €00l
(D) {0 g orgohié’ ssoctho SEET G000

Choose a wrong statement on charging methods of battery
(A) Efficiency is higher in constant current charging :

(B) Charging time is lesser in constant current charging
(C) Efficiency is lower in constant voltage charging

(D) Charging time is lesser in constant voltage charging

7. el 3§’ eotitio SN
(A) 8 Qo 1, 3¢5 AFost Péed sTessxpB00
(B) £ 585,565 S mgo Sai0iy H)tE800
(C) 388 >§ 5038 o 25 oo
(D) 388 =§ 5638 o DTy AR
Keeping a battery in

e

(C) trickle charge condition ine\i;eaée its life
(D) trickle charge condition j(i\';agrifeases its life

(A) full charging circuit cause conj;il}?lzus leakage g
(B) open circuited condition cause gassing problem

8. 100 :e090 5008 2 wh/SECHT s dooroSo 355 908 Sawdd, sdptd 368 e.md

(B8 3000 Jos 2 N
(A) OV (B):!iﬁb@‘/ Cr- 2y

(D) 4V

If a coil of 100 turns is linked with a flux increasing at a rate of 2 wb/sec. then

the induced e.m.{. per turn is
(A) OV (B) 200V IC) 2.V

9. 57e38 38) SRUB’ Sobak Sri@RoR 6y H’ So6ss 30
(A) &) BB SEToIT &oe0d
(B) &) Eromred’ S8¥orT éotid
(C) edoBys Sobakw oy @roTre 0G5 DEFOI &oeaod
(D) es:d0dys $5o0050 Hodyl (FPoTme B¢y ST dottss
The relation between magnetic flux density B’
always
(A) linear in all regions
(B) non-linear in all regions
(C) linear between unsaturation and saturation

(D) 4V

0G0 JYINET JT° &0E00d

and magnetizing force H' i

Elglil
regions ER=

(D) non-linear between unsaturation and saturation regions
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10. Qeoddo (retentivity) ‘E“SL Ao Des

(A) Wb/m (B) A/m (C) A/m (D) Wb/m

The unit of retentivity is

(A) Wb/m? (B) A/m? (©) A/m (D) Wb/m

11, %0FR0 1SS @gond JodoR BV exarads 1

(A) ¥§ 7550 douady (B) Seoso (oe3oh) Dt Boues

(C) oA ST BRoBES (D) gosas Sy BhoseEdS
_— Damper winding in synchronous machine is used to
$ (A) increase power factor (B) prevent hunting

(C) decrease copper loss (D) decrease iron.loss

12. oS rerd @aok) @isoe 8% 036y Battto s> ER.0SEY JaSE

(A) 3530 &F 3T (B) & $0085D oS

(C) S 50065 BRoEDY (D) e SodoRe® mdses

The direction of rotation of a synchronous metor can be reversed by reversing the
(A) Supply phase sequence (B) . Increasing the field current

(C) Decreasing the field current <« _ (D) Resistance in the rotor winding

13, 55 308 353 2ext 508 500008 FI Todod adsssod.

A EAE
@) | 08 asardoesd | ) | DC sresds E]%!:
(b) | g0c8S (ii) | AC s
(c) | %88 058 ; (iii) | DC 3080 AC
(A) (a) - (ii); (b) — (iE); (¢) — (1) (B) (a) — (ii); (b) — (i); (c) — (iii)
(C) (a) - (iii); (b) =+(); (c) — (iii) (D) (a) — (iii); (b) — (ii); (c) — (iii)
EAB Match the following type of meters with type of measurements.
e (a) | Electro-dynamometer (i) | DC only
(b) [ Induction (i) | AC only
(c) | Moving Iron (iii) | DC and AC

(A) (a) - (ii); (b) - (ii); (c) - () (B) (a) = (i); (b) - (i); (c) - (iii)
(C) (a) ~ (iii); (b) = (1); (c) — (iii) (D) (&) - (iii); (b) - (ii); (c) — (iii)

D 5- K
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e53¢ T, g0 erE), eond 8 €30 Dgs0 @B, E'eo Sdav | S0 Kot iy S8 P8
D08’ Dewss b %
(A) T, o1 (B) T, 0 (C) Td«ﬂ/z (D) T, =<® E'l 3
If T, is deflecting torque, 6 is angle of deflection and I is current, then in a
Moving Iron meter o
(A) T, o1 (B) T, <6 ©) Ty=1'/? (D) T, =6

200 V, 1 A 830 oo DesotSodloy 3axo 3§ 2200 arg@agé’ wand, (8 T MSCP &
S0 S0k,

(A) 1.143 (B) 175 (C) 0.875 (D) 350

If the total flux emitted by a 200 V, 1 A lamp is 2200 lumens, find MSCP
per watt.

(A) 1.143 (B) 175 (C) 0.875 (D) 350

8355y DTS ¥3oaod’, 28 e5t) Bpabd EBrE DG 5SS b0 So0Ak
est35y30530% B35 GATE T3 Ferse estloRBnbod’ DEEESS 0BT

(A) e5os0, oo (B), “&5080, 03y

(C) R0y, edoso (D) 0%y, Oy

During reverse bias, an ideal rectiﬁer diode offer resistance and an
ideal zener diode offer resistance in their normal operating modes.

(A) infinite, infinite (B) infinite, zero

(C) zero, infinite . % (D) zero, zero

D6 35 TEHANE oy, e G 140 V eidpcso 28 508" 0riex 35065 TS Dens
o ?

(A) 220/+/2 V<N(B) 22042 V (C) 220V (D) o

The average ouiput of a full-wave rectifier is 140 V. Then value of average input
voltage ovér-one cycle is

(A) 220/42'V  (B) 22042 V (C) 220V (D) Zero

1-¢ AC SoTeo 308010 BHRS 66 ¢ exsosorrowseds &3 SCR 1/5 3&ahSe
52508, B 8.8 3Ee’ (33068 S'e0 Jod 9 / Seacs” €386

EAE
(A) 36° (B) 1442 (C) 54° & (D) 324°

A single SCR connected between 1-¢ AC source and resistiv
at an angle of ©/5 radians. Then, conduction angle in one

(A) 36° (B) 144° (C) 54°

e load is triggered
cycle is

(D) 324°

-6- K
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19. LC e85 ergo8 5t ¢S trdrooiscedd 250 mH qote 500dis 1 uF Brtuad
SETOBOOT RIS GOLTON, @ond &'vo G, S0 B piiods.
(A) 200 Hz (B) 2000 Hz %
(C) 2000 rad/sec. (D) 200 rad/sec.

An inductance of 250 mH and a capacitor of 1 uF are connected together in
parallel to create an LC oscillator tank circuit. Calculate the frequency of

oscillation.
(A) 200 Hz (B) 2000 Hz
(C) 2000 rad/sec. (D) 200 rad/sec.
20. eschasbr ST BIT BS° 338908 2
() o 8o Erodo SrE (B) eS-esD @rodo. S @aas
(C) Sy @roso S (D) oty S0dkwsS-eh Frososs

\
A BJT acting as an amplifier will operate in
(B) Cut-off region only
(D). Saturation and Cut-off regions

-~

(A) Active region only
(C) Saturation region only

21, 230V DC sioes BisEeob s, LS sm s S18E deossord (ades bon BEE 3Ho8' 2 V exsBeS
Brs008. &e 5005 S BBE Srio K7y I 38055 (e 8o Jotb S exsTeS 3300 2

(A) 0% (B) 2 V %083 D58

(C) 2 V Eo&3 855 (D) 2V % dasrso
The open circuit voltage of 2230 V DC shunt generator running at rated speed
without any excitation {§2.V. If it is run with no excitation at more than rated
speed then the open circuit voltage is
' (B) more than 2 V

(D) equalto2V

(A) zero

(C) less than 2 V
22. DC 3rerE DAm &des Smi) Jo 20855 ?

(A) SCHc D S8Dg0 2otEo BP0

(C) 5 $Boedd shostio T
% Speed of a separately excited DC motor can be increased by
(A) increasing supply frequency (B) decreasing supply voltage
(D) increasing field current

(C) decreasing field current

(B) w00 S8 shosdio orgon
(D) 5§ K80 Dostio oo

D 7-
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(A) Sen Bo Earde ¥ &5 DEges o0l 50878 08 ©BdB8080

(B) 500656" 5560y Bevome SR oS Bor 85 Do g,%%
(C) TG somtyy B0 5Totaid IS B BE Uisgod Olcs
(D) e e, 55 Soods SoESTOS Hygdos #30 wbdT308

A Transformer is a device that
(A) Transfers active power from one circuit to another without losses

(B) Step up or Step down the voltage without a change in current
(C) Step up or Step down the current without aschange in voltage
(D) Transfers apparent power from one circuit to.another

200 @08 Soeodeo $odakn 70.7 mWb K055y oS 0% 50 Hz, 1-¢, ErSyrgs
GBool, K03, (208 e.m.f. D BYood.

(A) 4.00 kV (B) 3.14 kV (C) 2.83 kV (D) 4.44 kV

Calculate peak induced e.m.f. of a 50 Hz, 1-¢ transformer having 200 primary
turns and a maximum flux density of 70.7 mWhb.

(A) 4.00 kV (B) 3.14kV (C) 2.83kV (D) 4.44 kV

1-0 7S y0 @), 3%z BapRd ooh S0 G 0.9. b (3/4) S §'& 5§ &odl, wPpe
o3 58 S &6 devs, Jo 2

(A) 0.75 (B). 0.625 (C) 1.6 (D) 1.33

If ratio of copper loss to iron loss of a 1-¢ transformer is 0.9 at (3/ 4)th
full-load, then the same ratio at full-load is

(A) 0.75 (B) 0.625 ©) 1.6 (D) 1.33
do§ 38 305508" ko Sero Bore B ©sE SPSFBos’ dotaed 9

(A) Sge oy 280 (B) S8 sty 565559

(C) S'Gez ooy IFsore0 (D) S'ge

In Electrostatic instrument the deflection angle is directly proportional to
(A) inverse of voltage m (B) square of voltage

(C) square root of voltage s (D) voltage

o T
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- 4"
v _ / g dr)
07, £ 8% cﬁajfbéé 100 Botts éxbiseras 2 Dot Srtos’ $0ahn Bo Gk, 5o7"00 06
N ¢ > £ S Py y ™
4 D0ed8 BrEo0” GOWRGTTAN Boote3 E0Seos O Boths 6dEo W elegle

(A) oo S8 (B) @reois 98 (C) e8I (D) Bodiodwd

The candle power of a lamp is 100. Two plane surfaces are placed at a distance
of 2 m and 4 m away from a source of lamp. The illumination on the secon
surface compared with first surface is

(A) One-fourth  (B) Four times (C) One-half (D) Twice EJEE'J
08. FcEaDo edd & e

(A) 326 &% S 80Ty erSyrE,68 2656 3§ Bobrcosod

(B) 3370626 w0 885 0aES, oG58 BsTroston ©55000R0weCs €:0e2000
(C) 066 sty B8 BUTES) rSyey 58 WOHE 53§ Bctbweod

(D) 30606 525 &S BAITSS) erSyreyb8 Sisrosor $3E Sebasciosiod

In a sodium vapour lamp
(A) Capacitor is connected in series with high leakage reactance transformer

(B) Capacitor is connected in parallel with high leakage reactance transformer

E‘,ﬁ (C) Capacitor is connected in series with low leakage reactance transformer
ER=Z (D) Capacitor is connected in parallel with'low leakage reactance transformer

29. 5 e5of Bty eGS0 B oocs S
(A) 25%E (B) e8¢ (G)" &3y (D) esgbded

The purpose of surge tank is to pretect
(A) penstock (B) dam (C) turbine (D) alternator

30. sodveg 3-0, 4-356 AC 233508 S0 RYB. R &% @, 582 Vp = 230 £0°V 0005
ey Y €55 Sobak B &% I8, Jge
(A) V, =230 £120° V23800 Vg = 230 £120°V —_—
(B) V, =230 £ -120°V 500080 Vg = 230 £-120°V ‘%ﬁm 5
(C) V,, = 230 4[RO V 5o0c%» Vv, =230 £-120°V
(D) V, = 230 £ -120° V S0 Vv, =230 £120°V

In a balanced 3-¢, 4-wire AC system, the phase sequence is RYB. If the voltage
of R phase V| = n30 ~ 0° V, then the voltage of Y phase and B phase are

(A) V, = 230 £120° V and vy =230 £120°V
@28 (5) v, - 230 £ -120° V and Vg = 230 7120 v
B v, - 230 21200 V ang v, = 230 £-120°V

(D) V, =230 £-120°V and Vj = 230 £120°V

D 8. K
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31, e SIESE srseds (0 a0 BGE" 1 QRS OA éold, 0 5% 3%
' ©

Edofteod ?

(A) (1/3) Q (B) (1/6) Q (C) (1/2) Q2 (D) (1/12) Q
If each of the six resistances shown in delta connection has a resistance of
1 Q, find the corresponding each resistance in star donnection

EaE
O %

(A) (1/3) Q (B) (1/6) Q (€ (1/2) Q (D) (1/12) Q
32. 0GB So0ctho D eoser SFE +10.V powd, 3 Q 50600 4 Q oror (STfen Jod 9

A ANA B

20
3Q§ 340
D C

(A) 2.5 A 50805 WA BESm

>
(B) 2 A300a0 2.5 A st HRER
(C) 2 A 5080002 S

(D) 3.33 A 558050 2.5 A Stosm
If the voltage across the terminals B and D is +10 V, the ¢

urrents through 3 Q
and 4 Q are
SNV
Aroq B
30% 240
S
D & [I5=%

(A) 2.5 A and 2 A respectively

(B) 2Aand 2.5A re -
(C) 2 A and 2 A respectively Spectively

(D) 3.33Aand 254 respectively

-10- K
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Wil b ’/l' "AI Eyidas 'l;r.‘ Vot td ¥ s ‘Ivu'tla;\v J A :..’: 7?’1:) M’J "r_-‘l“”‘;lll'-ﬂ"l -;[’ﬁ,’? 14
4
# /
(A) A0.5 4 (K5 202.5 ¢ (C) 100 (D) 28

Nine equal resistances connected in parallel has an equivalent resistance of (2/9) €2
What I8 the equivalent resistance when five of them are connected in series ?

(A) 40.5 €1 (1) 202.5 G (C) 10 0 (D) 2Q g

P m 8 F - A - ’
44 i ~‘.‘/f' ’/;1/'3;"//1?'w ) DO Joi ol
E o F o Ao e o 4 ;
(A’ i’}w swdbid ',IlJJ!:'f' '.7""} »o ",17:;'/ lbd (,J';Jf;] ;-7”&:/} 50‘.’:3 mli?!?.’)
y
o7 waft 8. F 5. .0 4 ok I F & &
(BB) 505705 soes Glos5) W gpno @’7‘}/{4 b (1’31.}57’3"8:\/)0 7%, &J&SN’ é»oé»o&%

3 4 i F s T LY & y 74
(C) ity 2 G35, € B 155 Gy Brtailp ks S5npsre 4@»@?

v 8. F e 4 - - -
“ ), ‘:l S did rdesd 7"//7':// ”.5(!.152 :.'/4'1 «7“(,1;:& ’;/:[_,3 .,J’;JI",

Choose the correct choice of a 3-pin plug
(A) Disnmeter of live pin is more than the diame earth pin
BAB (1) Diameter of earth pin is less than the di of neutral pin

L
B#  (C) Length of neutral pin is less than thc@%&h of live pin

(D) Length of earth pin is more than th h of neutral pin

d

35, toul Gk, B L 5085 oD :rsbwg{é;*? 4% 5688, o0 DB 85 R’ v
SICASS, Q
(A) 0.5R (B) 2R <</ (C) 1.414R (D) 0.707R

If length ‘L of a canducuﬂg}od its radius ' increased by 41.4%, then its

resistance ‘R’ will be ch E-q
(A) 0.5R (B) % (C) 1.414R (D) 0.707R

36, -0 @il @8 iyas NI Golilss 7
(A) iiryliad oh S5 5 e
(B) S0 o isigp < 308 Sigp S0 oh Sgp > Goad dge
(C) Sy o isigp i@ < RS Bge
(D) Jayid oh Sige Sr@as > RORS Sge
The efficiency of a 1-¢ transformer is not maximum

(A) when copper loss = constant loss
(B) when copper loss < constant loss and copper loss > constant loss

(C) only when copper loss < constant loss
(D) only when copper loss > constant loss

D '11' }
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|1 ';

™ -, B) 1, € 1, -1, D) 1,~1,

: t of 1-¢ auto-transformer, th
IfI. and I are primary current and load curren uto- : ) then
the current ﬁovfing in the secondary winding in the opposite direction of Primary

current is

ll '2

a) -1, B) I, NG I -1, D) 1,-1,

8 ©2308 2000 T 2eb (3598 (1918 (CT) Sobai FEYaS erS)6;5 (PT) Gus
Sowodd BBuH JodofeH esddoiriosnd dotron. @S om CT X 567 55 Soed
5008 PT 0 2¥obed’ LISEHm 568 wanistyond, Yk

(A) CT 308050 PT So&d Sresoodeso

(B) CT 556055 PT 806> rEDaromn s&

(C) CT r&p@oodsa PT oo :

(D) CT SresQuddfth 520 PT &sdood

An ammeter and voltmeter are connected to respective secondary windings of
Current Transformer (CT) and Potential Transformer (PT). If accidentally CT i
short circuited and PT is open circuited on their secondaries, then

(A) Both CT and PT are not damaged

(B) Both CT and PT are damaged :
(C) CT is damaged, but PT is not damageq
(D) CT is not damaged, but PT is damaged % 3

+10:
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L, 3000 Ly §°6 8% er&wr5y 6 s, g%%
(A) LV Sodof L, &' £ & 1o eotod HV Jodof L, 6 & &srom &otnod -

39.

(B) LV odofi L, & §6 8 565 ésotxood 8:8ai0 HV 3odof L, §° & affom &0e208.

(C) HV ool L, 3080k L, §° & sKom éotwod
(D) LV Sodof L, S08ah L, §°6 § espsi esotawol

IfL, and L, are two limbs of a core type transformer, then

(A) LV winding is nearer to core inL, and HV winding is nearer to core in L,

(B) LV winding is nearer to core in L, and HV winding is néarer to core in L,
g%@ (C) HV winding is nearer to core in L, and L,

(D) LV winding is nearer to core inL, and L,

40. 3-6, 10 HP, 230V, 60 Hz, 6 26 Y 53§ DowoercesS 50653 rerE 1160 rpm 53 30308,
&'e6 Dot Boo%, @SRy 08 ?

(A) 2 Hz (B) 62 Hz (C). 58'Hz (D) 60 Hz

A 3-¢, 10 HP, 230 V, 60 Hz, 6 pole Y connected induction motor runs at

1160 rpm. What is the frequency of rotor current ?
(A) 2 Hz (B) 62 Hz (C) 58 Hz (D) 60 Hz
9 { 1 2 1 2
41. g SThoDN T8 e Ae3 2 LI 5 cv

(A) Tee5, &S SR (B) reS, Teed SR

e

(C) &9, &S Scorm | (D) £°6, TeS SET

1 1
What are units of the following ? -2—LI’; 2 cv*

(A) Watt, Joule respectively (B) Watt, Watt respectively

(C) Joule, Joule respectively % (D) Joule, Watt respectively

D -13-
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. Loy g F \ O Dol %0 03¢ 3% 5 \
8 0 V. 5o0an V X 6T 56;5 0O DI ll HL o (O BuigeatarBBood),
42, SPR ot V| SO0 Yg Hp ’ |

)y M &
:...V) E %

Vi -r I
MRS P—

I

(A) 1, = LLR,/(R, +R) B) 1, =-1,R,/(R, +R))

©) 1 = laR1/(R1 + R2) (D) I, = —IsRl/(R1 ¥ RQ)
If the voltage sources V1 and V2 are short-circuited, then the current I1 is givey

B, =-LR,/(R, +R)

(A) I, =L,R,/(R; + R)) —_—
(©) I, =1LR /(R + Rz)% (D) 1, =-LR /R, +R)

43. 650 Ah 5903 12 V 58 ergb$” Jogdaheds 3§ Jod 9
(A) 66.07 MJ (B) 340.87MJ (C) 28.08 MJ (D) 127.09 MJ
What is the energy stored in a 12 V car battery rated at 650 Ah ?
(A) 66.07 MJ (B)~.8340.87MJ (C) 28.08 MJ (D) 127.09 MJ

44. 4.5 Ah, 1.5 V 5,885,270 100 mA 9 e508035608 o $8oahodesood ?
(A) 3 Koo (B) &5 & S08a%w 17 Kotsen g
(C) 25 E'er 5000 21 Hotrew (D) 15 Kotoen
How long cania 4.5 Ah, 1.5 V flash-light battery take to deliver 100 mA ?
(A) 3 hours (B) One day and 17 hours
(C) One day and 21 hours (D) 15 hours
45. 2% erged amp-hour 3‘333;%50 S00cin watt-hour 50850 3508 90% Sodakw 80%.
ey Srie TRoR 582 Sodatkn Bie damgoh S8 D
(A) 1.125 (B) 0.889 (C) 1.422 (D) 0.790

The amp-hour efficiency and watt-hour efficiency of a battery are 90% and 89%
* respectively. Then the ratio of average charging voltage to average discharg

voltage is
~ (A) 1.125 (B) 0.889 (C) 1.422 (D) 0.790
D -14-
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3500 o) JHE SRS U =
o ;dwoéoé LTRSS U, = 4900 wond eS8 §°6 Glooky Moy D EiEogES
m EAE
A) 154 x 10 H : ﬁ
() 7 I8 (B) 616 x 107> H/m @02
C) 616 x 10
% S (D) 154 x 107" H/m

Determxr']e the absolnie permeability of a transformer core, which is made up
of a particular type of iron of relative permeability u_= 4900.
r

=5

(A) 154 x 1075 H/m B) 616 x 10° H/m
-7

(C) 616 x 107" H/m (D) 154 x 107 H/m

47. & (508 3B WORIETO Booky, Sidyy RO JosoEod.

@ |8 ~AIF o080 (1) |eorso
(b) O -e0HTOB0 (ii) Boﬁ&ixoibo
(©) | sasr-eabroso | (i) |3od

(i) [serg
(v) |2=é
(vi) | ®8ame
1;3%?1 (A) (a) = (v); (b) — (iid); (c) — () (B) (a) - (iv); (b) - (vi); (c) - (1)
B (C) (a) - (v); (b) - (i); (c) - (iid) (D) (&) - (iv); (b) = (vi); (c) - (ii)
Choose a wrong match of the following magnets. A

-~

(a) | Ferro-magnet (i) | Gold

(b) | Para-magnet (ii) | Magnesium
(c) | Dia-magnet (iii) | Silver

(iv) | Cobalt

(v) | Nickel

(vi) | Lithium

(B) (a) - (iv); (b) - (vi); () = (i)

(A) (a) - (v); (b) — (iid); () - ()
(D) (a) - (iv); (b) = (vi); (c) — (iii)

(©) (a) - (v); (b) — (i); (c) — ()
-15- K
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48. 3-¢ cgmr "3 Saheds §&ES V wéo.ml 55 .)629 35000520 DR EBoLSIT &0, 3 égaa

3”5:‘ 833 uui,»c.)c:.,j ) "f mum Uw Bowoa QP E0LTP0 7

S
(A) 3 V, sobaiv J3_I; (B) V /3 300 1,/3 a%’:
(C) V3 V, wbaio 1,/3 (D) V /Jg.maom\/ﬁ

V, and I are line voltage and phase current of 3-¢ delta connected load, Whe,
the same load is converted to 3-¢ star connected load, the phase voltage ang
line current are

(A) V3 V,_ and 3, (B) V. /3 and /3
(C) V3 V_ and I,//3 (D) Vv, / J3 and /31,
49. 4 38 5500 KOS podFonid TFE Bot, BEaS FEPH ST Sod.
(A) 0.314 rad/sec. (B) 3.14 rad/sec.
(C) 1.57 rad/sec. (D)++0.16 rad/sec.
Find the radian frequency of sinusoidal.yoltage that have the time period of
4 sec.
E#AE (A) 0.314 rad/sec. (B) 3.14 rad/sec.
ER=Z (C) 1.57 rad/sec. (D) 0.16 rad/sec.

50. 1-H gocgb 00050 1 pF SFOBHEHE5E" 53§ Savexds 1000 rad/sec. 3¢ 3odo 3008
Do ?

(A) S0 Q (B)..—11000 Q (C) j1000 Q (D) 1000 Q

What is the total.impedance at 1000 rad/sec. of a 1-H inductor and a 1 pF
capacitor connected in series ?

(A) Zero @+, (B) —j1000 Q (C) j1000 Q (D) 1000 Q %

3
-

51. 1-0 AC 3595 S8 oy, o 5530 25 ms eond, 3RS &S G 35 8pand s
&')535@ Do ?

(A) 100 ms (B) 12.5 ms (C) 25ms (D) 50 ms

If time period of a 1-¢ AC input voltage is 25 ms, then the time period of hal
am wave rectifier with resistive load is

(A) 100 ms (B) 12.5 ms (C) 25 ms (D) 50 ms

D -16- B
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52. ?Céo‘w (0 G009, SmTels ST VO 8 wownd, cJ"g.‘.') A0 500050 B ;30(105 (8903, MOPG
Jod oo -
8 SO0 2 S8R i
:2; st com ui (B) 2 %oBako 8 St ;
> OO

(D) 2 $6a% 4 SEw

C machine is 8, then in lap winding and wave
es are

If no. of parallel paths of g D
winding the number of brush

(A) 8 and 2 respectively

(B) 2 and 8 respectively
(C) 4 and 2 respectively

(D) 2 and 4 respectively

53. oo DS DC WSS,

¥5) 0356y Goot) Fsssspesso 45 Hz wonnd, aoolse ook o 25505
VQ@“OJ BEONED 9 W b e . ,

(A) 45 (B) 22.5 (C) 1350 (D) 1500

E']E@ In a four-pole DC machine, if frequency of flux reversals.is 45 Hz then the speed
@it of the machine in revolutlons per sec. is

(A) 45 (B) 22.5 (C) 1350 (D) 1500

54. ¢ &R0 3§ w08, L 50s56 @y e, A €30 o 50eFes oo 5000k V et Sogd
Ko €£'OJJ 568 e.m.f. Devs Doe’s ?

(A) 6LV/A (B) 6LVA (C) oLA/V (D) ¢LAZ/V?

If ¢ is the flux, L is length of conductor, A is area of cross-section and V is
velocity of conductor, then induced e.m.f. is given by

(A) 9LV/A (B) ¢LVA (C) oLA/V (D) ¢LA%/V?

55. 1000 r.p.m. 3¢ $&:52%) &8 dedots esded e.m.f. q)g\oﬁ)o& 200 V 300050 58,56 S'eS
&5 10 V. 2.53¢ o 3o 1200, r.p.m. 28A8, T &8 (D 3¢ &t dabedd e.m.f. dos
6000 ?

BAE
(A) 200 V (B) “230 V (C) 240V (D) 250V 'm%i.

A dc shunt generator running at 1000 r.p.m. generates an e.m.f. of 200 V and
its armature voltage drop is 10 V. If its speed increases to 1200 r.p.m. then the
generated e.m.f. at the same drop will be

(A) 200 V (B) 230V (C) 240V (D) 250V

56. 220 V 3595 8 50000 16 A 50065 550 2.5 kKW 2 (2o 1-¢ 367, 5e5 ooy, 936 sy
ESoR 06,
(A) 0.3 (B) 0.71 (C) 0.78 (D) 0.22

Find the power factor of a 1-¢ circuit that absorbs 2.5 kW for a 220 V input
voltage and 16 A current.

() 0.3 (B) 0.71 m (C) 0.78 (D) 0.22
-17- K
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57. 250 Ko o8

150 sin 377t TGV KD 08200 BB TR S00% eSS ¥8Y
pov=

ESoRS0ds.
D) 800 W
(A) 450 W (B) 1600 W (C) 900 W (D) -
A 25 Q resistance has a voltage v = 150 sin 377t. Find the power dissipateq
esi
800 W
(A) 450 W (B) 1600 w (C) 900 W (D) ﬁ

58. xS o §Rounds S§n P =06t 4 cos2(2t + 30°)W  @S5etiod. FRodeds ey

¥ S0,

(A) 1I0W (B) 14 W
The instantaneous power absorbed by a circ
EREY Find the peak power.

(A) 10W B) 14W (C) 2 W (D) 22 W

C) 2W (D) 22W
uit §§-p = 6 + 4 cos2(2t + 30°)W,

59.  1-0 ac v g ol 336 555 S'E O dsyitch 1T 30000 66

O™ &3St 80

(A) 30638, 30G4S /7 (B) BhyS, Borge

(C) BassS, TS N (D) mouls, TS

Power factor of a 1-¢ ac ,cfiféiiit is zerowhen load ispurely __, and unity
when load js purely ____ EaE

(A) Capacitive, Inductive (B) Resistive, Reactive &

(C) Reactive, Resistive (D) Inductive, Capacitive

60. %955 Koe’d B§PE (SCR) D Bockd A8 Kool Srestingh 35 5855 €36
(A) PNP rRy%6 NPN )38 s, acy0edd 53§ Sawverdsse
(B) NPN (336 PNP er0y96 G008 escx0e3d £3§ Sosoedsd
(C) PNP (er2y56 NPN 36 8% 53§ Satberdod
(D) PNP ¢ry36 NPN 50y08 ooy 58568 3§ Sowesdod
ili Controlle i i 2
Gl B T e
(A) PNP transistor is connected to emitter of NPN transistor
(B) NPN transistor is connected to emitter of PNP transistor
(C) PNP transistor is connected to base of NPN transistor
(D) PNP transistor is connected to collector of NPN transistor

-18- K
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(D) &6 B0yt 500010 Mo ememont 1

A synchronous motor can be i i
(A) Over loaded & rlot-exciteduSEd e U
(B) Over loaded & under-excited

(C) Under loaded & under-excited

(D) Not-loaded & over-excited

§ 9
62. 00HENS [HENE 30 3¢& DC 9 30 TG AC w508y AC @5 &0 356 Jogs 367 550

DS00TEs 9
(A) FE

E : (B) ’ac‘()‘sgé

% 1(\0) o€ §*55195 (D) bsub

* A power electronic circuit for AC dri i
fixed AC voltage with variable frequlgﬁz;v ilzv.l(c::}allfgél \;gtts J ﬁxe o
(A) Chopper (B) Inverter i
(C) Cyclo-converter (D) FullConverter

63. O &G Babeds 10 HP qocgS arerE 480 Vi50"Hz 85 $0d 85% oo $00080
0.8 o 536 568 52 Tixgod. o Moo Sk Ko Sod.
(A) 1.05 kW (B) 1.49 kW (©) .1.12 kW (D) 1.31 kW

A fully loaded 10 HP induction motor operated from a 480 V, 50 Hz line at an
efficiency of 85% and 0.8 lagging poewer factor. Find the total losses.

(A) 1.05 kW (B) 1.49 kW, (C) 1.12 kW (D) 1.31 kW
64, 1-¢ Dorerd GBook) Gior OF _ AN 00 &b

(A) ErSots 500050 (9573 DodoMEdSes 836, Sacso S&a

(B) ©rtogs Bodioh ook, EAgSess 8:36) Jatbeio 5

(C) 3rerb odoh &'se BdrED 53§ Sabo

(D) $EH0° SO NS IGO0

The direction of-rotation of a 1-¢ motor can be reversed by _

(A) Reversing the connections of both starting & main windings

(B) Reversing the connections of starting winding
EAE (C) Connecting the diode inside the motor winding

(D) Reversing the supply connection

65. p-2% eg@é&&;é‘ o Sero Sodake ogd §e20 DB

(A) 2/p (B) p/2 € p (D) 1/p
The ratio of mechanical angle to electrical angle in a p-pole alternator is
(A) 2/p (B) p/2 C€) p (D) 1/p
D -19- K
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66.

-~

67.

68.

69.

70.

PART - B
aoored 5§ o SETotd (SNG D00 $3¥0 D6 7
(A) He3R0 (B) 508 Socalod
(C) 50858 (D) £33 5
The following is & place in Telangana known for Buddhist relics,
(A) Phanigiri (B) Maddi Madugu
(C) Kandakurti (D) Bijinepalli

5 800 T8 8o 2023 KOS TS “SeerRgs @8 Iors 6 2
(A) S. L. 85 (B) B. M. M. dsred

(C) 63 BT (D) 55684 D 5636

Who among the following is NO
year 2023 ?

(A) S. L. Bhyrappa

(C) Vani Jairam

SoegSBER0 Bl D053 (S50t DEX 220R0D ?

T a ‘Padma Bhushan’ awardee for the

(B) B. M. M. Keeravani
(D) Kamlesh D Patel

(A) B3> & BAOAET (B) >EF

(C) 8 (D) &R

The first world conference on the environment was held at :
(A) Rio de Janeiro Lil@ (B) Stockholm

(C) Geneva ElR=z (D) Johannesburg

st DOes0 SBak0 S ¥BBE o Deups St 50 08 T3S D Dexdos @330
(D) Do D

tion of

(A) DeSB], (B) D& C (C) deood K

Which of the following vitamin is essential for bone formation and reten

calcium in the human body ?
(A) Vitamin B, (B) Vitamin C (C) Vitamin K

ovasq;ses‘:o 3B Koo Dedd Howofoisd

(A) o (B) ergys (C) a0

Khetri mines in Rajasthan are related to :

(A) Copper (B) Bauxite (C) Iron gﬁ
. o~

-20-
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72.

73.

74.

101213
w d_j u;\, _)r.«mAJU.a
A D,JCZ‘w.» 200030 8 :
( ) .a b J‘”’)V (4‘ G}b%ﬁ,;(a s 5 (JJ YORJ" )
(B) S5 SocrDd w:m&n Do —
(C) s._, \,ruy 0e U(.j PR AR h o1 )

AV ‘-JU‘:l;U:J e dB50e 00
I DIOED
(D’ o Jod B8 esgyre O \r‘sr., (%) =
Customers who complain want

(A) To be heard and have their experi
: erience vali
(B) Something for nothing FESDS TREaR-ed

(C) To be m:flde majority shareholders in the company
(D) To vent just for play |

. '® e ":S' 3
& 200 738 2 523 610 G.O. esgrdore 30000 VAOE 7

- 2023

(€ ?jefﬁé Sl (D) (Peaes 50099 N

The 610 G.O. was based on the report submitted by the following committee :
(A) Girglani (B) Bhargave.l.\

(C) Jai Bharat Reddy (D) Pranab ‘Mukherjee

Bok Sohore ($80 2.8 363608 g 60,000. S oo SEEomT 38 30065 "oui?@oéf

H0IHTRE 5% SO0 B0t coo;Se‘_’vadoés :oo&ﬁe‘%aO"ﬁ)é 10% Shob. @8 &7
(A) 55,500 (B) 51,000 (of 51,300 (D) 54,150

The population of a town 2 years ago\rag 60,000. D

decreased by 5% per annum in year and 10% per annum
The present population is {/
(A) 55,500 (B) 51,00 \ - (C) 51,300 (D) 54,150

(A) @50 26 SoB05» &8

(B) &=5 22 558050 a@@‘g\

(C) 5’05 18 maom;%?g%a 19
(D) yoed 23 So0a» 378) 21
On what days do we have equ
(A) On 26" February and 22" July
(B) On 229 June and 2gth Apnl

(C) On 18™ October and 19" January
(D) On 23" September and 21°* March %

503 TgHore SHDH I 662?0§ 000 BETROT® E0LTO.

al days and nights all over the world ?

21-
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75. CRM woés w
(A) Customers Rarely Matter -

(B) Can’t Remember Much
(C) Communicating Random Meaning
(D) Customer Relationship Management
CRM stands for
(A) Customers Rarely Matter
(B) Can’t Remember Much

(€) Communicating Random Meaning

B (D) Customer Relationship Management

76. L& 36 eostio 5rsS eBmRA IS, PITE BTG 56 SoeTo.

(A) 58 S50 (B)Fen dsnto 756
(C) eigo v (D) &heanr
Depletion of the ozone layer causes damage to human health. Negative effects
include
(A) Skin cancers \ 4 ’ (B) Osteoporosis
(C) Dyspepsia (D) Diphtheria EAE
£ ER=?
77. 3356 Ib-eS eo;raéj 2022-23 & 808 T3 08 rEBBHeE’ ‘G goksBd’ emred
RO0E508 ? :
(A) T-o65 ™ (B) IIT-H
(C) ISc. (D) Y- DIHE

In the National Start-up Awards 2022-23, which of the following won the
‘Best Incubator in India’ award ?

() T-Hub (B) UT-H
(C) TiSc. sﬁg (D) Start-up Bihar

D -22- K
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78. 800 T W50 6_,2’“)0&1533«\) Somfessineso’ D6 ¢

.
(A) S0 (B) rowre (C) mogror (D) 5o -
Which of the following was the most powerful ‘mahajanapada’ ?

(A) Koshala (B) Panchala (C) Gandhara (D) Magadha

79. 2 SEDAN oer 60 RoSBYoPe e Dostomn Dore 9
(A) Sousds (B) @porstaes-1
(C) KeasdAS (D) @orstye-11
Which Kakatiya King ruled continuously for 60 years ?

Ea8@ (A) Mahadeva (B) Prataparudral

ERE (C) Ganapathideva (D) Prataparudra=lI

80. 9 Qe P& Ko & BHBR Fo ) Fver 1 B e Ko Wrgod’ Soged Gotncd. Srgo

QAT @“O@‘:)& Eon e50Cs.
~{->1m
9m ;: ’
(A) 19 m* B A
() 17 m® ALY D 2lm

A square field of 9 m 1 ng ;sf\surrounded by a path 1 m wide on all sides. Find
.\\.\e\%i—é d

N

area of the path.

(B) 40 m?

EAE 2
EI% (D) 21 m
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